
A

B

KNOB
(IN DIFFERENT FINISH)

W5/32" FLAT
HEAD SCREW

M5 FLAT HEAD SCREW

WASHER 

CENTRAL 
MECHANISM

1/4" THREADED TOP ROD
(FOR 96" HEIGHT DOORS)

1/4" THREADED TOP ROD
(FOR 40" STANDARD

HEIGHT INSTALLATION )

SILENCER
SPIDER

SILENCER
SPIDER

STICKER INDICATOR

FLAT HEAD 
PARKER #10

OR W5/32"x1/2"
SCREW

M5 FLAT HEAD
SCREW

BOTTOM 
  STRIKE

BOTTOM STIKE
CAP

BOTTOM LOCK
BOLT

1/4" HEXAGONAL NUT

SUPPLEMENT
STRIKE

SUPPLEMENT
STRIKE

TOP STRIKE

FLAT HEAD 
PARKER #10

OR W5/32"x1/2"
SCREW

M5 FLAT HEAD SCREW

TOP LOCK 
BOLT

1/4" HEXAGONAL NUT

T512
2 POINTS FLUSHBOLT 

(EXPLODED DIAGRAM)

MAIN CODES:

T512-01   FLUSHBOLT 2 POINTS BLACK MATE
T512-04   FLUSHBOLT 2 POINTS GREY
T512-06   FLUSHBOLT 2 POINTS WHITE
T512-12   FLUSHBOLT 2 POINTS DARK BRONZE
T352E00   EXTENSION ROD FOR UP TO 120" HEIGHT DOORS

EXP-01-T512


	Hoja1
	Vista de dibujo11
	Vista de detalle A (1 : 4)
	Vista de detalle B (1 : 4)


